
SAP ABAP table USMD_ADRC_STRUC {USMD Include Structure w/ADRC Attributes w/o Name Fields}

USMD_ADRC_STRUC

CITY_CODE [CHAR (12)]

CITYP_CODE [CHAR (8)]

CITYH_CODE [CHAR (12)]

REGIOGROUP [CHAR (8)]

DONT_USE_P [CHAR (4)]

CITY_CODE2 [CHAR (12)]

PO_BOX_REG [CHAR (3)]

PO_BOX_CTY [CHAR (3)]

TRANSPZONE [CHAR (10)]

DONT_USE_S [CHAR (4)]

STREETCODE [CHAR (12)]

COUNTRY [CHAR (3)]

BAS_LANGU [LANG (1)]

REGION [CHAR (3)]

TIME_ZONE [CHAR (6)]

LANGU_CREA [LANG (1)]

DELISERVTY [CHAR (4)]

ADDRC_DELI_SERV

CLIENT [CLNT (3)]

DELI_SERV_TYPE [CHAR (4)]

 USMD_ADRC_STRUC-DELISERVTY = ADDRC_DELI_SERV-DELI_SERV_TYPE 

0..N

1

ADRCITY

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

CITY_CODE [CHAR (12)]

 USMD_ADRC_STRUC-CITYH_CODE = ADRCITY-CITY_CODE 

0..N

{0,1}

 USMD_ADRC_STRUC-CITY_CODE = ADRCITY-CITY_CODE 0..N

{0,1}

 USMD_ADRC_STRUC-CITY_CODE2 = ADRCITY-CITY_CODE 

0..N

{0,1}

ADRCITYPRT

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

CITY_CODE [CHAR (12)]

CITYP_CODE [CHAR (8)]

 USMD_ADRC_STRUC-CITYP_CODE = ADRCITYPRT-CITYP_CODE 
0..N

{0,1}

ADRREGGRP

CLIENT [CLNT (3)]

REGIOGROUP [CHAR (8)]

 USMD_ADRC_STRUC-REGIOGROUP = ADRREGGRP-REGIOGROUP 
0..N

{0,1}

ADRSTREET

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

STRT_CODE [CHAR (12)]

 USMD_ADRC_STRUC-STREETCODE = ADRSTREET-STRT_CODE 
0..N

{0,1}
T002

SPRAS [LANG (1)]

 USMD_ADRC_STRUC-BAS_LANGU = T002-SPRAS 

0..N{0,1}  USMD_ADRC_STRUC-LANGU_CREA = T002-SPRAS 
0..N{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 USMD_ADRC_STRUC-COUNTRY = T005-LAND1 

0..N

{0,1}

 USMD_ADRC_STRUC-PO_BOX_CTY = T005-LAND1 
0..N

{0,1}

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 USMD_ADRC_STRUC-PO_BOX_REG = T005S-BLAND 

0..N

{0,1}

 USMD_ADRC_STRUC-REGION = T005S-BLAND 

0..N

{0,1}

TSAD12

CLIENT [CLNT (3)]

UNDELIVER [CHAR (4)]

 USMD_ADRC_STRUC-DONT_USE_P = TSAD12-UNDELIVER 

0..N

{0,1}

 USMD_ADRC_STRUC-DONT_USE_S = TSAD12-UNDELIVER 

0..N

{0,1}

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 USMD_ADRC_STRUC-TIME_ZONE = TTZZ-TZONE 

0..N

{0,1}

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 USMD_ADRC_STRUC-TRANSPZONE = TZONE-ZONE1 

0..N

{0,1}


